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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 6306801388694 Question Type : MCQ Option Shuffling : Yes
Who among the following Gupta officials was responsible for assisting the king in judicial matters?
Options :

1. * Mahapratihara

2. ¥ Mahanandanayaka

3. # Pratihara

4. * Dutaka

Question Number : 1 Question Id : 6306801388694 Question Type : MCQ Option Shuffling : Yes
fFrafaRad T SifimTial & ¥ S ATiie Il § o7 &t TgRIdl R & [0 STRER U172

Options :

1. % HEIYIdER
2. ¥ Hgld<lddh
3. % UfdgR

4. % gdd

Question Number : 2 Question Id : 6306801409114 Question Type : MCQ Option Shuffling : Yes

Musa Shah, Bhawani Pathak and Debi Chaudhurani were important leaders associated with which of the
following rebellions?

Options :

1. ¥ Fakir-Sanyassi revolt
2. % Munda rebellion

3. % Kol uprising

4. #% Santhal rebellion

Question Number : 2 Question Id : 6306801409114 Question Type : MCQ Option Shuffling : Yes
T /MG, HAH! UT8 e 3R ¢di Aierr, Fafeiead 3 3 forg fagis 3 Jefa agagu Adr 2
Options :

1. ¢ BHR-GI fagg (Fakir-Sanyassi revolt)

2. % 48T fd<ig (Munda rebellion)

3. % DId [daIg (Kol uprising)

4. % JYTeT fagIg (Santhal rebellion))

Question Number : 3 Question Id : 6306801389494 Question Type : MCQ Option Shuffling : Yes

The British introduced the Subsidiary Alliance System to control the Indian princely states. Who was the
architect of this policy?

Options :
1. ® Lord Clive



2. # Lord Cornwallis
3. ¥ Lord Wellesley
4. % Lord Dalhousie

Question Number : 3 Question Id : 6306801389494 Question Type : MCQ Option Shuffling : Yes
ST = U Feamdl UR 0 & fo e Taae oel IRe &t | 39 =ifd & At o 2
Options :

1. % dls FA1Sd (Lord Clive)

2. % QI8 PHIaTe (Lord Cornwallis)

3. ¢ QTS daRal (Lord Wellesley)

4. % WIS SIS (Lord Dalhousie)

Question Number : 4 Question Id : 6306801389505 Question Type : MCQ Option Shuffling : Yes
The acronym NATO stands for

Options :

1. ® North American Treaty Organization

2. #% North American Trade Organization

3. % North Atlantic Treaty Organization
4. % North Atlantic Trade Organization

Question Number : 4 Question Id : 6306801389505 Question Type : MCQ Option Shuffling : Yes
Tfer A NATO &1 quf &9 a1 82

Options :

1. #® North American Treaty Organization (Tﬁ of 3 Q"I’c"[ m’gﬂ)

2. # North American Trade Organization ('_'ﬁ?‘f 3R ?\_S' 3ATTF "|I$\1\1 <)

3. ¥ North Atlantic Treaty Organization ('_‘IT?f Jcdifed @_cpf Cﬂﬁm)

4. % North Atlantic Trade Organization (-1 of areqifesm a@ &W@m

Question Number : 5 Question Id : 6306801389277 Question Type : MCQ Option Shuffling : Yes
Why has there been a demand for reform in the United Nations (UN)?

Options :

1. # The UN was established after World War .

2. ¥ The world has changed significantly since the Cold War.

3. % The UN has achieved all its goals and is no longer needed.

4. # The UN only focuses on economic issues.

Question Number : 5 Question Id : 6306801389277 Question Type : MCQ Option Shuffling : Yes
Y AP (UN) T GYR ST AT R D1 71 8] 62

Options :



1. % TR P B RIGAT G4H 9y 5 & 916 gs At

2. ¢ YA GG & 91g ¥ fay ¥ Icora-a U 9 dGard 3T g |

3. % TG AY A 30 FHI & RIS R foTT & SR 3fd DT SHTIRADH T o) 5|
4. % TYaRI AP Had A Tl IR &M Gl 5|

Question Number : 6 Question Id : 6306801389519 Question Type : MCQ Option Shuffling : Yes
Which of the following best describes the structure of the ocean floor?

Options :

1. * It is uniform, with no variation in depth.

2. ¥ It has a shallow continental shelf, a steep continental slope and a deep ocean basin.

3. ® It consists mainly of mountain ranges.

4. % It is mostly flat and featureless.

Question Number : 6 Question Id : 6306801389519 Question Type : MCQ Option Shuffling : Yes

fFafiRad 7 ¥ HH-91, HENNR Idg &t TG BT aiad gui- HRdl 82
Options :

|. % g UpTHM g, STD! e[S A is fAfaedr T8l gl

2. ¥ 3H U IUS HETeIU Qeth, Teb g HeTedd gef 3R Teb Tg-1 9Hl IR B
3. % SO0 3 w0 9§ Uad Jaan i g

4. % g JffHR JUIe U9 SMPHideH g

Question Number : 7 Question Id : 6306801389537 Question Type : MCQ Option Shuffling : Yes
What was one main reason India removed trade barriers in 1991?

Options :

1. ¥ To reduce the country's dependency on agriculture

2. % To attract foreign investment and improve industrial competitiveness

3. # To increase government control over production

4. % To eliminate unemployment completely

Question Number : 7 Question Id : 6306801389537 Question Type : MCQ Option Shuffling : Yes

1991 H HRd GRT ATUR T1YUTT Ealel P Udh HB HIRUT KT YT?
Options :

1. % SR DI PN R AR 7 BT
2. ¢ fac=h Faw & s fid wvr oIk shenfies ufaegef o gurR &=

3. % IdIGT R IRBRY [HI=01 dgHT
4. % SRISATRI D T TRE Y TH BT

Question Number : 8 Question Id : 6306801389426 Question Type : MCQ Option Shuffling : Yes



Which of the following was related to the Seed ball programme?
Options :

1. ¥ Biodiversity conservation

2. # Industrial development

3. # Mining projects

4. # Urban agriculture

Question Number : 8 Question Id : 6306801389426 Question Type : MCQ Option Shuffling : Yes

fafoiad 7 ¥ foae day TS d1d (Seed ball) HTRIHH I UT?

Options :

1. ¢ g fafgedr wrem
2. % 3N fawra
3. % g9 gAY

4. % R DY

Question Number : 9 Question Id : 6306801408588 Question Type : MCQ Option Shuffling : Yes
Khijadia Wildlife Sanctuary, which is a Ramsar wetlands site of India, is located in which Indian state?
Options :

1. ¥ Gujarat

2. ® Maharashtra

3. % Rajasthan

4. ¥ Madhya Pradesh

Question Number : 9 Question Id : 6306801408588 Question Type : MCQ Option Shuffling : Yes
RgoIfear a=lia SIHARTY, S HRT BT T IR STEYH R 8, forg R a Iog & f¥ya g2
Options :

1. ¢ I[RTd

2. % HeRTY

3. % YOI

4. % TP YUY

Question Number : 10 Question Id : 6306801408599 Question Type : MCQ Option Shuffling : Yes
National Policy on Disaster Management was approved by the Union Cabinet of India in which year?
Options :

1. #® 1998

2. %2002

3. % 2009

4. % 2012



Question Number : 10 Question Id : 6306801408599 Question Type : MCQ Option Shuffling : Yes
YR & e HEHSA gRT SHTUaT YeeH TR IS Aifd &I ford Iy wet §f 715 o

Options :

1. #* 1998

2. %2002

3. %2009

4. % 2012

Constitution and Civic Rules and Information technology and
Environment up to 10th level

Section Id : 63068067509
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 63068084973
Question Shuffling Allowed : Yes

Question Number : 11 Question Id : 6306801389523 Question Type : MCQ Option Shuffling : Yes
What is the primary use of manganese?

Options :

1. # Fertiliser production

2. ¥ Steel manufacturing

3. # Food additives

4. # Fuel for power plants

Question Number : 11 Question Id : 6306801389523 Question Type : MCQ Option Shuffling : Yes
TS T UTfies JUdhT o 52

Options :

1. % JdReb JcTe

2. « SHWId AT

3. % G Yol

4. % fooreh g3 & forg SeA

Question Number : 12 Question Id : 6306801408827 Question Type : MCQ Option Shuffling : Yes



Which type of soil, characterised by a red to reddish-yellow colour, is formed in regions that experience high
rainfall with alternating wet and dry periods?

Options :

1. # Alluvial soil
2. ¥ Laterite soil
3. # Black soil
4. ¥ Desert soil

Question Number : 12 Question Id : 6306801408827 Question Type : MCQ Option Shuffling : Yes

e TR Bt 7aT, foraeT W1 ardt a1 ard-UTel 81T &, S &1 H §-d! § oTei UdhiaR o H 3T Ud [&h
gl # 3= aui gt 82

Options :

1. % S[alg 7aT

2. ¢ exIge Hal
3. % PIdl gar

4. % TERAY 7]

Question Number : 13 Question Id : 6306801408817 Question Type : MCQ Option Shuffling : Yes
Which of the following statements is INCORRECT?

Options :

1. ¥ Primary industry is concerned with production of goods with the help of nature.

2. % Extractive industry is concerned with extraction of goods from the soil, air or water.

3. ® Examples of service industry include the hotel industry, tourism industry and entertainment industry.

4. ¥ All products of service industries come in raw form and they are used by manufacturing industries.

Question Number : 13 Question Id : 6306801408817 Question Type : MCQ Option Shuffling : Yes
fFrafafad & @ HF-91 %3 Tad 82

Options :

1. % T IR BT Yae UHTd & Tgradl ¥ H1d & Sdled 4 g |

2. % fSHyUT ITNT T e GeT, Irg a1 ofd J Al & FTShyur 9 7|

3. % J97 IYNT & ISIE 0N H gled S9N, Gded IR 3R H-RSH S9N MW §

4. ¢ JI1 I & G I F= TY H 3Td 8 3R 3761 IuanT fafaior I=imm & fear sar g |

Question Number : 14 Question Id : 6306801390727 Question Type : MCQ Option Shuffling : Yes

Which of the following Articles of the Indian Constitution focuses on the state's responsibility to minimise
income inequalities and work towards eliminating disparities in status, facilities, and opportunities?

Options :
1. ¥ Article 38
2. % Article 39



3. # Article 164
4. % Article 338

Question Number : 14 Question Id : 6306801390727 Question Type : MCQ Option Shuffling : Yes

YRTT A &1 FUfaRad 3 9 SH-91 srwe 3T SaFars & &H B auT fufd, gfaumsft ok
AR H RIS DY GR B DI G- T B B BT I8 & ITRETAA TR biod &2

Options :

Question Number : 15 Question Id : 6306801390736 Question Type : MCQ Option Shuffling : Yes
Which of the following Constitutional Amendments is related to the constitutional status of the Panchayati

Raj System in India?

Options :

1. % 42" Constitutional Amendment
2. ¢ 73" Constitutional Amendment
3. % 74™ Constitutional Amendment

4. % 86M Constitutional Amendment

Question Number : 15 Question Id : 6306801390736 Question Type : MCQ Option Shuffling : Yes
froffad § @ SH-a1 Gauie S YRd T U=ad) I ogaw @) Haure fRufd 3 defid 82
Options :

1. % 4297 Gfqu T

2. ¢ 7391 TiqY™ TN

3. % 7441 AfqyT TN

4. % g6qi HlauT =M

Question Number : 16 Question Id : 6306801389486 Question Type : MCQ Option Shuffling : Yes
The Council of Ministers in the Union Executive is headed by the:

Options :

1. # President

2. # Vice President

3. % Prime Minister

4. % Speaker of the Lok Sabha

Question Number : 16 Question Id : 6306801389486 Question Type : MCQ Option Shuffling : Yes

Teftg iU # #uitye & ugE g g|




Options :

1. # yufd

2. % JWIYUfd

3. ¢ UYHEAL

4. % BT e

Question Number : 17 Question Id : 6306801408619 Question Type : MCQ Option Shuffling : Yes

The Constitution (Ninety-fourth Amendment) Act of 2006 provided for which states of India that ‘there shall
be a Minister in charge of tribal welfare who may in addition be in charge of the welfare of the Scheduled
Castes and backward classes or any other work’?

Options :

1. ® Bihar and Rajasthan

2. ® West Bengal, Assam and Tripura

3. #¥ Uttar Pradesh, Uttarakhand and Himachal Pradesh

4. % Chhattisgarh, Jharkhand, Madhya Pradesh and Odisha

Question Number : 17 Question Id : 6306801408619 Question Type : MCQ Option Shuffling : Yes
TfaeT (949t T=Me) FAFTH, 2006 H HRA o fob Isdl & T g8 Urae fopar a1 fo < snfeandt
H & oY T YUY T BT STt 39ah Sifafad SrIgferd sifad oiR fUes gl o dearur srar fadt
30 B BT THRI 81 Tl 872

Options :

1. % f98R iR I

2. % T I, oM iR AR

3. % IR YUY, IS 3R fFH=d gem
4. BTG, IRTS, AL UG 31R Sifg=m

Question Number : 18 Question Id : 6306801392245 Question Type : MCQ Option Shuffling : Yes

Which of the following statements about renaming files and folders in an operating system is/are correct?
1. In Windows OS, a file or folder can be renamed by right-clicking on it and selecting the 'Rename' option.
2. In Linux OS, the mv command is used to rename files and folders in the terminal.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 18 Question Id : 6306801392245 Question Type : MCQ Option Shuffling : Yes
STRFET ey A wIgal 3R Wite) &1 ATH G (renaming) & Ja¢ § fFAufeifad 7 @ &19-3 ®ud
e 82

1. f3SIS 3T (Windows 0S) H, oo BTd a1 IR &1 A1 I W Use-faad B 3R 'Rename’




fad ey Qaoae HIP Teal off IHhdl o |
2. forTeRT 3T (Linux 0S) H, efifTd # wgdl 3R Wice:! &1 9 9ga- & ol mv HHIS (mv
command) T IGANT fHTT ST B |

Options :

[. % had |

2. % 5Hdd 2

3. ¢ 1 3R 2 M

4. % a1 3R 2

Question Number : 19 Question Id : 6306801393077 Question Type : MCQ Option Shuffling : Yes
Match the System Settings of the Windows 10 OS in Column A with their correct functions in Column B.

Column A Column B
a) Manages network connections like Wi-Fi and
1. Display Settings Ethernet
2. Sound Settings b) Adjusts screen resolution and brightness
3. Network Settings c) Controls audio output and input devices
4. Power Options d) Configures sleep mode and power-saving plans

Options :

1. ¥ 1-b, 2-c, 3-a, 4-d
2. #® l-a, 2-d, 3-c, 4-b
3. % 1-c, 2-a, 3-b, 4-d
4. % 1-d, 2-b, 3-a, 4-c

Question Number : 19 Question Id : 6306801393077 Question Type : MCQ Option Shuffling : Yes

Hiaq A fASIT 10 3NTH (Windows 10 08) 1 fer AfEg &1 HiaH B § 3% Tl HaRM (function)
CACGIEETY

Dl A DIdH B

a) A13-TT3 3R IWAT (Ethernet) S Acddh BRI
1. f&o@ 9fE (Display Settings) Dl B AT §

b) Shi i\Q\,rITcij\QH 3R SRR LS| ( screen resolution
2. g3 AT (Sound Settings) and brightness) &1 JHTAINTT BT §

c) 3T 3MT3eYe 3R Ye f&arsy (audio output
3. degs ATy (Network Settings) and input devices) a?rﬁtrﬁ?rm%

d) T AYS 3R YraR-JfT wi= (sleep mode and

power-saving plans) DI BIRPTR (Configures) & XdIl
4. TTaR 3HT=H (Power Options)

Options :

1. ¥ 1-b, 2-c, 3-a, 4-d
2. # l-a, 2-d, 3-c, 4-b
3. % 1-c, 2-a, 3-b, 4-d



4. % 1-d, 2-b, 3-a, 4-c

Question Number : 20 Question Id : 6306801393083 Question Type : MCQ Option Shuffling : Yes

Match the File and Folder Operations of Windows 10 OS in Column A with their correct actions in Column
B:

Column A Column B
1. New Folder a) Opens a dialog box to create a new file
2. Right-click + New b) Creates a new folder in the selected location
3. Ctrl + Shift + N c) Shortcut to create a new folder
d) Saves an existing file with a new name or
4. Save As location

Options :

1.¥1-b,2-a,3-¢c,4-d
2. % 1-a,2-d,3-b,4-c¢
3.% 1-b,2-¢,3-a,4-d
4. % 1-¢,2-b,3-d,4-a

Question Number : 20 Question Id : 6306801393083 Question Type : MCQ Option Shuffling : Yes
B A T 3T T Windows 10 OS & THT3E 3R WIeex HTIRIA &1 HIad B H &} 12 39! gt fomanail
T gAferd Hifore:

HiaHd A PicH B
a) 713 BTSd fohUc R & [oTU Uh SN d1ay U
1. New Folder CRGIE
2. J3e-fFdd + New b) RIAaS AHT W UH 791 HIceR fhlc Hdl &
3. Ctrl + Shift + N c) 7T BieeR fohle #A & fore Widehe
d) foreit HIS[aT WIgd &1 -1Y ATH & 91y a1 ¢
4. Save As TP R U AT §

Options :

l.¥1-b,2-a,3-¢,4-d
2. % 1-a,2-d,3-b,4-c¢
3.% 1-b,2-¢,3-a,4-d
4. % 1-¢,2-b,3-d,4-a

Current affairs and Madhya Pradesh General Knowledge up to 10th

level
Section Id : 63068067510
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 10



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 63068084974
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6306801387978 Question Type : MCQ Option Shuffling : Yes
The book 'Ambedkar: A Life' is written by whom?

Options :

1. #® Sanjeev Sanyal

2. # Subhra Gupta

3. # Vairamuthu

4. % Shashi Tharoor

Question Number : 21 Question Id : 6306801387978 Question Type : MCQ Option Shuffling : Yes
'IFSHI: T ARH' (‘Ambedkar: A Life') TP fbddb gRT ferdl 78 82

Options :

1. % Hoild grard

2. % YTl

3. % R

4. « QR R

Question Number : 22 Question Id : 6306801407744 Question Type : MCQ Option Shuffling : Yes

Who is the author of the book 'Rama Bhima Soma: Cultural Investigations into Modern Karnataka', launched
in 20257

Options :

1. # Girish Karnad

2. ¥ Srikar Raghavan

3. % UR Ananthamurthy

4. % Ramachandra Guha

Question Number : 22 Question Id : 6306801407744 Question Type : MCQ Option Shuffling : Yes
2025 T TSI Qs MM HiH TH: HeeRd SaRe I 3¢ Ale dhHcdh' & aad B g7

Options :

1. % TRiw oAl
2. ¢ SR T
3. % IR AT

4. % IFZ TR

Question Number : 23 Question Id : 6306801388958 Question Type : MCQ Option Shuffling : Yes



What is the primary objective of the 'Brindavan Gram' scheme launched by the Madhya Pradesh
government?

Options :

1. ¥ To promote organic farming practices

2. ¥ To establish model villages focusing on cow protection and rural development
3. ® To provide free plots to the poor for building houses

4. % To offer training in various skills to unemployed youth

Question Number : 23 Question Id : 6306801388958 Question Type : MCQ Option Shuffling : Yes

A TR WBHR GRI & B 718 'Ja1a- T Ioi1 & Wi 3539 1 82
Options :

1. % Sifdw SN gsfad! o ggrar &

2. T TREUT 3R ATHIUT A IR & Hgd B gU 3M1e=] id R BT
3. % TRI DI AN I & o7 [ Yeh YT Iuds Bl

4. % SRISATR garsft oI fafva Sr=ral H ufRieror ue™ &

Question Number : 24 Question Id : 6306801407900 Question Type : MCQ Option Shuffling : Yes

In which month and year did the Madhya Pradesh Assembly pass the MP Jan Vishwas (Amendment of
Provisions) Bill-2024?

Options :

1. ® November 2024
2. ¥ December 2024
3. % January 2025
4. ® QOctober 2024

Question Number : 24 Question Id : 6306801407900 Question Type : MCQ Option Shuffling : Yes

%mﬁwm%m%ﬁ?&éﬁnwmmﬁmmﬁeﬁm@ﬁmﬁaﬂazmuﬂiﬁ
?

Options :

1. % TdeR 2024
2. ¢ f&sR 2024
3. % SR 2025

4. % 3fRJSN 2024

Question Number : 25 Question Id : 6306801409068 Question Type : MCQ Option Shuffling : Yes

A Hindi writer and journalist and a close associate of Mahatma Gandhi, Viyogi Hari, started a periodical
‘Patit Bandhu’ from Jabalpur to address the grievances of the marginalised and was the founding editor of
the journal ‘Harijan Sewak.” He was born in the district of Madhya Pradesh in 1896.

Options :
1. ¥ Chhatarpur



2. % Jabalpur
3. % Mandsaur

4. ® Narsinghpur

Question Number : 25 Question Id : 6306801409068 Question Type : MCQ Option Shuffling : Yes
fg<t O Ud TR 3R AT il & el gt faandt gk 3 g1fRw R us vl &) fRreradl &
R B & foTE TEAQR § T URHT Ufad 8¢ B JE3M1d BT 3R 9 oM Jad IS & GRS
TG A1 IHT S 1896 T HE USRI & forel & g T

Options :

1. ¥ TIRER

2. % SEAR

3. % THEdR

4, % RRYTR

Question Number : 26 Question Id : 6306801390882 Question Type : MCQ Option Shuffling : Yes
In which present-day district of Madhya Pradesh was Ramgarh, Avantibai Lodhi's kingdom, located?
Options :

1. % Jabalpur

2. ¥ Dindori

3. % Mandla

4, % Satna

Question Number : 26 Question Id : 6306801390882 Question Type : MCQ Option Shuffling : Yes

3adIaTs Wl BT I TG A TSR & fobd g fora § fyd U
Options :

1. % SEAR

2.« &SR

3. % Hedl

4, % ga-

Question Number : 27 Question Id : 6306801389616 Question Type : MCQ Option Shuffling : Yes
In which year was the Pachmarhi Biosphere Reserve designated as a World Heritage Site by UNESCO?
Options :

1. * 1999

2. % 2005

3. %2009

4, % 2012

Question Number : 27 Question Id : 6306801389616 Question Type : MCQ Option Shuffling : Yes



TIHG] SRIRG IR Rord ! fobd ad gwh! gRT Ay ¢RI R & U | A1Hd foban mam 41
Options :
1. % 1999
2. % 2005
3. ¢ 2009
4. % 2012

Question Number : 28 Question Id : 6306801409089 Question Type : MCQ Option Shuffling : Yes

The Pandav Caves, believed to be the caves where the Pandavas from the Mahabharata took shelter during
their exile, and the Jata Shankar Caves, known for their unique rock formations, are located at which of the
following places in Madhya Pradesh?

Options :

1. #* Bhopal

2. % Bandhavgarh
3. % Pachmarhi
4. % Khajuraho

Question Number : 28 Question Id : 6306801409089 Question Type : MCQ Option Shuffling : Yes

HETYRA 1 H UTSal & I-1aM GRIF 3! IRV & ¥ H afdfd uigd T iR Seridm T,
ST 3T SIS R faat & forg uftig €, Aen vew B fRgfofad # ¥ fpa e R fRa g

Options :

1. % HIgre

2. ® qiYaile
3.« UgHG!
4. % GRTE!

Question Number : 29 Question Id : 6306801389334 Question Type : MCQ Option Shuffling : Yes
What role does the Watershed Development Programme (WDP) play in Madhya Pradesh?

Options :

1. ® It promotes urban infrastructure development.

2. ¥ It enhances soil conservation and water availability for agriculture.

3. ® It builds highways and expressways.

4. % Tt provides free drinking water to all citizens.

Question Number : 29 Question Id : 6306801389334 Question Type : MCQ Option Shuffling : Yes

e USR H aTerS f[Ihm HrihH (WDP) B &l YfHHT 72
Options :

1. % Ug &Y 3aEE oy Y sear ad g |
2.+ I8 SN & foTT a7 WREMUT 3R et SUAIT B! SgIdl 5|




3. % g ISR 3R AU T A0 Xl & |

4. % Tg QU AR &1 J0d Tod ST HRICT ¢ |

Question Number : 30 Question Id : 6306801388730 Question Type : MCQ Option Shuffling : Yes

Which of the following countries launched the first-ever commercial space tourism mission to the Moon in
November 20247

Options :

1. ¥ The United States

2. % Russia

3. # Germany

4. ® The United Arab Emirates

Question Number : 30 Question Id : 6306801388730 Question Type : MCQ Option Shuffling : Yes
TR 2024 ¥, FafaRad & T forg =1 dgm1 & forg ugan anftifcass sidfver gded fiRM af= faram

Options :

1. ¢ GAZCS W

2. % %Y

3. % ST

4. % GG 3R HRTA

Logical Reasoning and Mathematics up to 10th level

Section Id : 63068067511
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 63068084975
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 630680573037 Question Type : MCQ Option Shuffling : Yes

Gopal bought 51 books for Rs 1135 from one shop and 41 books for Rs 905 from another. What is the
average price (in Rs) he paid per book ?

Options :
1. ¥ 22.17
2. % 21.39

3. % 20.68



4. % 2315

Question Number : 31 Question Id : 630680573037 Question Type : MCQ Option Shuffling : Yes

MO 3 U g I 1135 FTT T 51 T 3R IR GHM F 905 3T | 41 Teass WIS | ufd T
ISP gRT YTaM fhar mar 3id gedr (U H) J1d Hiforg|

Options :

1. 22.17

2. % 21.39

3. % 20.68

4. % 2315

Question Number : 32 Question Id : 630680704412 Question Type : MCQ Option Shuffling : Yes
Simplify:

(33x4*x23?)

(31x42x 23)

Options :

1. ¥ 144

2. % 143

3. % 145

4. % 154

Question Number : 32 Question Id : 630680704412 Question Type : MCQ Option Shuffling : Yes

(33x4%x23)

(3'x4%x 2%) Froxa s3]
Options :

1. ¥ 144

2. % 143

3. % 145

4. % 154

Question Number : 33 Question Id : 630680591285 Question Type : MCQ Option Shuffling : Yes
If 25% of k is 10 less than 2400% of 10, then k is:

Options :

1. ¥ 920

2. % 900

3. % 880

4. % 960



Question Number : 33 Question Id : 630680591285 Question Type : MCQ Option Shuffling : Yes
Tfe k BT 25%, 10 P 2400% J 10 HH B, ) k BT A fobdT1 82

Options :

1. ¥ 920

2. % 900

3. % 880

4. % 960

Question Number : 34 Question Id : 6306801071689 Question Type : MCQ Option Shuffling : Yes

6000 were divided among P, Q and R, such that 3 times of P = 4 times of Q = 9 times of R. Find the share
of R.

Options :
1. ¥ 3960
2. % %787
3. % 3762
4, % 3872

Question Number : 34 Question Id : 6306801071689 Question Type : MCQ Option Shuffling : Yes
36000 I P, Q 3R R & &1d 39 YHR SicT 741 fdh, P &1 3 AT = Q HT4 THT = R BT 9 TAT g1 R HT iR
1A BT

Options :

1. ¥ 3960

2. % %787

3. % 3762

4. % 3872

Question Number : 35 Question Id : 6306801226951 Question Type : MCQ Option Shuffling : Yes

Two taps can fill a cistern in 13 hours and 13 hours respectively. A third tap can empty it in 16 hours. How
long will it take to fill the empty cistern, if all of them are opened together?

Options :

10 181’
ST 10UTS

9181’
T 10UT'S

. 12Efmurs



?181'
PRAT: 10UT'S

Question Number : 35 Question Id : 6306801226951 Question Type : MCQ Option Shuffling : Yes
3l 91, Th Tpt BT HHTT: 13 T (hours) 3R 13 T H HR Jhd & | TP dFRT 1d ST bl bl 16 G |
FTelt B Hhdl | TS Gt 7ol D1 Uep w1 Wi a1 ST, df @reit Sobt bl 4= | fobe=1 wHg aihme

Options :

L 10 Ehﬂurs

9181’
L% 210 Lours

12—hou
- g ours

?181’
L% 10 10UT'S

Question Number : 36 Question Id : 6306801053315 Question Type : MCQ Option Shuffling : Yes

Seven boxes J, K, L, M, P, Q and R are kept one over the other, but not necessarily in the same order. Only
four boxes are kept between J and Q. Only M is kept above J. Only two boxes are kept between L and R. P is
kept immediately above K. R is not kept immediately above P. How many boxes are kept between P and R?

Options :
1. # Four
2. ® Three
3. * Two

4. % One

Question Number : 36 Question Id : 6306801053315 Question Type : MCQ Option Shuffling : Yes
IS8 1, K, L, M, P, Q 3R R T & SR U W 7T §, AfhT sRe] gl fp s A A G IR QP
§T $ad IR fEA T MU | 1 F HWR Had M I AT ]| L 3R R & o1 $Had o (o6 I MW g | P DI
K& 31 SR IW TG R B PP 31 SR ol I@ AT | P 3R R & & foha fSs T MU 2
Options :

1. # dR

2. % dH

3.% Q)




4.4 TH

Question Number : 37 Question Id : 630680560982 Question Type : MCQ Option Shuffling : Yes

In a certain code language, ‘flow is fast’ is coded as ‘gim dim tim’ and ‘stop the flow’ is coded as ‘jim tim
lim’. How is ‘flow’ coded in the given language?

Options :
1. # gim
2. ¥ tim
3. % dim

4. # jim

Question Number : 37 Question Id : 630680560982 Question Type : MCQ Option Shuffling : Yes
Wﬁ@ﬁ@ UTST T, “flow is fast’ DI ‘gim dim tim’ CRSLR: PCdx fopar STaT 8 SR ‘stop the flow’ Gal
4im tim lim’ & ©0 § Geag (a1 S1dl 8 | €1 T8 HTST H “flow’ &1 [ TSR Hedg [l T 82

Options :

l. % gim
2. ¥ tim
3. # dim

4. # jim

Question Number : 38 Question Id : 630680847290 Question Type : MCQ Option Shuffling : Yes

How many meaningful five-letter English words can be formed using D, X, I, N and E using all the letters,
but each letter only once in each word?

Options :
1. ® None
2. % One
3. ¥ Two

4. % More than two

Question Number : 38 Question Id : 630680847290 Question Type : MCQ Option Shuffling : Yes

D, X, I, N 3R E & G4} 3{&RT 1 SUUNT e, b1 U e H U 3H&R BT hael b IR JuANT
HIP fobd 1 UTar-31&R 3ol Weg ST off Ihd 82

Options :
1. % U i 81
2. % Uh
3./Q
4. % G Y 3B




Question Number : 39 Question Id : 630680678545 Question Type : MCQ Option Shuffling : Yes

MQ 9 is related to IK —6 in a certain way. In the same way, PS 14 is related to LM —1. To which of the
following is JR 6 related following the same logic?

Options :

1. * EK-9

2. ¥ FL-9

3. * FE-9

4. % WL -11

Question Number : 39 Question Id : 630680678545 Question Type : MCQ Option Shuffling : Yes

MQ 9 T FAIfEd T T 1K —6 J Faiferd g1 ST RGPS 14, LM 1 I H&fd § | HM dh & TR IR
6 fFrafafed o 9 fra Sefia g2

Options :

1. ®* EK-9
2. ¥ FL-9
3. * FE-9
4. % WL-11

Question Number : 40 Question Id : 630680881863 Question Type : MCQ Option Shuffling : Yes

Based on the English alphabetical order, three of the following four letter-clusters pairs are alike in a certain
way and thus form a group. Which is the letter-cluster pair that DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-
cluster.)

Options :

1. ¥ PS—NT

2. % JM-IL

3. % XA-WZ
4. % JL-HK

Question Number : 40 Question Id : 630680881863 Question Type : MCQ Option Shuffling : Yes
3{TST qUiHTe 58 & SMYR R FHfRad IR SieR-Tqg gl & 9 dF T Afyd dXid 9 90 § 8k
T YBR U J0 §1d § | HH-T7 3eR-Tg T 39 J9 J Yaford T8 82

(Ae: ST MR- T, ToH/RAR] ! G- AT 3| (U TR MR 81 §1)

Options :

1. ¥ PS—-NT

2. % JM-IL

3. % XA-WZ

4. # JL-HK




Subject related questions

Section Id : 63068067512
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 60
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 63068084976
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 6306801396058 Question Type : MCQ Option Shuffling : Yes
Which of the following is NOT the correct purpose of studying engineering drawing?

Options :

1. # To develop the ability to produce simple engineering drawing and sketches based on current practice
2. % To develop the skills to read manufacturing and construction drawings used in industry

3. # To develop a working knowledge of the layout of plant and equipment

4. ¥ To develop skills in not to abstract information from calculation sheets and schematic diagrams

Question Number : 41 Question Id : 6306801396058 Question Type : MCQ Option Shuffling : Yes

ST SR &1 ST B BT o I6d FufaRad & 3 1 181 82

Options :

1. % gJUM UGfd & YR TR IRA SO SR 3R YW1 dOR HH D1 & [ Rid BT
2. % I B ygad fafmior 3R a1 sl &1 ugH &1 SIwra faswRa &

3. % 47 T IUBRUN & AT BT BRI T [ RId DAl

4. « T Yie SR TIoTaG SR I I DI S A HRA BT BRI (G Rid BT

Question Number : 42 Question Id : 6306801396063 Question Type : MCQ Option Shuffling : Yes

Which of the following conventions in engineering drawing is used to show the interior details of an object
by pretending to cut the object on a plane?

Options :

1. ® Orthographic projection
2. ¥ Dimensioning

3. ¥ Sectioning

4. #® Assembly drawings

Question Number : 42 Question Id : 6306801396063 Question Type : MCQ Option Shuffling : Yes

SO greT | afciRad # 9 g aRurct o1 IuanT fardit a¥g o1 THdd TR DIl gail faar
P SHTARSP [davur B feam & forg fovam &irer &2




Options :

1. % GaPIN0IP T (Orthographic projection)
2. % fqHiDH (Dimensioning)

3. ¥ UR@EH (Sectioning)

4. % TN SIS (Assembly drawings)

Question Number : 43 Question Id : 6306801396096 Question Type : MCQ Option Shuffling : Yes
The width of the capital letter ‘X’ in single-stroke letteringis  , where, d = line thickness.
Options :

1. % 1d

2. % 5d

3. ¥ 8d

4. % 12d

Question Number : 43 Question Id : 6306801396096 Question Type : MCQ Option Shuffling : Yes
?‘W—W IR (single-stroke lettering) e aé’ 3ER X Pl ?‘ﬁgﬁf gral %, G‘TST, d =@1 &t InETEc
I

Options :
1. % 1d
2. % 5d
3. ¥ 8d
4. % 12d

Question Number : 44 Question Id : 6306801396115 Question Type : MCQ Option Shuffling : Yes
To construct a rectangle, we need to know the length of

Options :

1. ¥ two adjacent sides

2. ¥ only length

3. # only width

4. ® perimeter

Question Number : 44 Question Id : 6306801396115 Question Type : MCQ Option Shuffling : Yes

TS 31d 591 & fou, go ST bt STIhdT Bl g

Options :

1. ¢ QI 3T YT3fl ! dars
2. % $Had ddls

3. % Had AISls

4. % GRAMY




Question Number : 45 Question Id : 6306801395040 Question Type : MCQ Option Shuffling : Yes
The angle that is more than 180°is called a/an ____ angle.

Options :

1. ¥ reflex

2. % acute

3. % right

4. % obtuse

Question Number : 45 Question Id : 6306801395040 Question Type : MCQ Option Shuffling : Yes
I HIUT ST 180° F 31 gaT & I FHETSAC B

Options :

1. ¢ yfcradf sior
2. % AP

3. % FHBI

4. % 3Pl

Question Number : 46 Question Id : 6306801395066 Question Type : MCQ Option Shuffling : Yes
Match the columns and select the correct option from the following.

Sheet Designation Trimmed Size (mm)

(A) AO (P) 297 X 420

(B) A1 (Q) 420 X 594

(C) A2 (R) 594 X 841

(D) A (S) 841 X 1189
Optlons :

1. ¥ A-S, B-R, C-Q, D-P
2. ¥ A-P,B-R, C-Q, D-S
3. % A-S, B-R, C-P, D-Q
4. % AR, B-S, C-Q, D-P

Question Number : 46 Question Id : 6306801395066 Question Type : MCQ Option Shuffling : Yes

T 1 gAferd B IR Fufeiad 7 3 98 fasey o1 7 |

e SREwE (Sheet Designation) ﬁﬁmw TPR (mm)
(A) AO (P) 297 X 420

(B) Al (Q) 420 X 594

(C) A2 (R) 594 X 841

(D) A (S) 841X 1189
Optlons :

1. ¥ A-S, B-R, C-Q, D-P
2. % AP, B-R, C-Q, D-S
3. % A-S, B-R, C-P, D-Q



4. % AR,B-S, C-Q, D-P

Question Number : 47 Question Id : 6306801395033 Question Type : MCQ Option Shuffling : Yes
Dashed thick lines are used to represent  in drawing.

Options :

1. ¥ Hidden outlines/edges

2. ® Visible edges

3. # Visible outlines

4. ® Cutting planes

Question Number : 47 Question Id : 6306801395033 Question Type : MCQ Option Shuffling : Yes

SEUEE ! g2 & fore SRa At Waral &1 IuanT frar S 2|

Options :

1. ¢ S 313 (Hidden outlines)/®RI (edges)
2. % fafSTad BRI (Visible edges)

3. % fafSlgd 3MITATE (Visible outlines)

4. % - dall (Cutting planes)

Question Number : 48 Question Id : 6306801396127 Question Type : MCQ Option Shuffling : Yes

Which of the following types of pictorial views has one surface parallel to the picture plane and other sides
vanishing to a single point?

Options :

1. #® Isometric

2. % Orthogonal

3. ® Oblique

4. ¥ One-point perspective

Question Number : 48 Question Id : 6306801396127 Question Type : MCQ Option Shuffling : Yes

fafafea a9 m\};lcbli & FeTdd == (pictorial views) R Uy, CEGE] (picture plane) & AR
BT § TYUT 3= YT U fofg TR e 81 St &2

Options :

1. % FHGRIP (Isometric)
2. ® GIBIOIH (Orthogonal)

3. % ff® (Oblique)
4, & W—ﬁg BIREL) (One-point perspective)

Question Number : 49 Question Id : 6306801395675 Question Type : MCQ Option Shuffling : Yes
The sides of a right-angled triangle are 13 cm and 17 cm. Find the hypotenuse.
Options :



1. % 17.5cm
2.¥21.4cm
3. % 263 cm
4. % 30 cm

Question Number : 49 Question Id : 6306801395675 Question Type : MCQ Option Shuffling : Yes
Teh FHDIV FAYS BT YT 13 em 3R 17 em 8| 3D HUI 1 1T

Options :

1. % 17.5cm

2.¥21.4cm

3. % 263 cm

4. % 30 cm

Question Number : 50 Question Id : 6306801395750 Question Type : MCQ Option Shuffling : Yes
Which of the following statements correctly defines the density?

Options :

1. % The mass of an object per unit volume

2. #® The volume of an object per unit mass

3. ® The product of mass and volume

4. ¥ The addition of mass and volume

Question Number : 50 Question Id : 6306801395750 Question Type : MCQ Option Shuffling : Yes

fFfIfad & ¥ -9 HU, U9d ol Iih U I TRUINT Bl g2
Options :

1. ¢ Ufd 18 3mrad- ¥ fifs &1 gouam™

2. % Ufd 3pTs goadH | s &7 imaa

3. % GAM 3R T BT UG

4. % GOHM 3R M BT TThA

Question Number : 51 Question Id : 6306801395932 Question Type : MCQ Option Shuffling : Yes
Which of the following represents the correct boiling point of water?

Options :

1. #® 112 centigrade

2. % 108 Fahrenheit

3. # 273 Kelvin

4. ¥ 80 Reaumur

Question Number : 51 Question Id : 6306801395932 Question Type : MCQ Option Shuffling : Yes

FofiRad 7 9 HH-91, 91 & I8! HUIP B Heiud SRl 82



Options :

1. % 112 3<S
2. % 108 BIRAGISC
3. % 273 Picad

4. ¥ 80 YRR

Question Number : 52 Question Id : 6306801396016 Question Type : MCQ Option Shuffling : Yes

A block weighing 100 N is placed on a surface with a coefficient of friction of 0.2. What force is required to
move the block?

Options :

1. % 0.002N
2.¥ 20N

3. %¥ 200N
4. % 500N

Question Number : 52 Question Id : 6306801396016 Question Type : MCQ Option Shuffling : Yes
100 N HR & Ueh sdiids b1 0.2 TN 70N aTat g8 TR T 741 § | b o1 RIMIART (move) B & g
fob e &I Y SHTTRI Dl BRI

Options :

1. % 0.002N

2. ¥ 20N

3. % 200N

4. % 500 N

Question Number : 53 Question Id : 6306801395937 Question Type : MCQ Option Shuffling : Yes
Why is mercury preferred over alcohol in thermometers for high temperatures?

Options :

1. ¥ Mercury is less toxic than alcohol.

2. % Mercury sticks to glass.

3. ¥ Mercury can measure higher temperature than alcohol.

4. ¥ Mercury expands randomly.

Question Number : 53 Question Id : 6306801395937 Question Type : MCQ Option Shuffling : Yes
I AT & e yAiHieR & Tembigd B SUe Teh! & Uryfiidsar adf <t ST g2

Options :

1. % THY, Tedbled ! ga-1 & A fadar g g

2. % TH g W U A8 |

3. ¢ B, UedbIgd B qaT H 3ifefes dTaH A9 Fehd g |
4. % IO AEfas® U I THIRG gl 5|




Question Number : 54 Question Id : 6306801395958 Question Type : MCQ Option Shuffling : Yes
22
7

Find the lateral surface area if a cone has a base radius of 7 cm and its volume is 1232 cm?. [Take m=

Options :

1. ®* 616 cm?
2. * 786 cm?
3. % 352 cm?
4. % 550 cm?

Question Number : 54 Question Id : 6306801395958 Question Type : MCQ Option Shuffling : Yes

IS Th TP B SATYR AT 7 em § TUT DT AT 1232 em® €, A 1% G¥TT 8% A1 HIT [z =
22 AifSry

7

Options :

1. ¥ 616 cm?

2. * 786 cm?

3. % 352 cm?

4. ¥ 550 cm?

Question Number : 55 Question Id : 6306801395662 Question Type : MCQ Option Shuffling : Yes

If vou divide r by 15’ what is the result?

Options :
v 3
4
2. % 73
64
3% 64
75
4. % 4
3

Question Number : 55 Question Id : 6306801395662 Question Type : MCQ Option Shuffling : Yes

gfe At 16 fauiirg a &, df aRums fsden ured g
5 15

Options :
v 3
4



2. % 713
64
3.$ 64

75
4 % 4
3

Question Number : 56 Question Id : 6306801395741 Question Type : MCQ Option Shuffling : Yes
What is the typical carbon content in carbon steel?

Options :

1.4 0.15% - 1.5%

2. % 2% -4%

3. % 4% - 6%

4. % 10% - 12%

Question Number : 56 Question Id : 6306801395741 Question Type : MCQ Option Shuffling : Yes
I ST H HTH-31=1 WHTI: feT 811 82

Options :

1. ¥ 0.15% - 1.5%

2. % 2%-4%

3. % 4% - 6%

4. % 10%- 12%

Question Number : 57 Question Id : 6306801392708 Question Type : MCQ Option Shuffling : Yes
What is the primary function of earthing?

Options :

1. ¥ To connect live conductors directly to the earth

2. ¥ To connect non-conductive metal parts to the earth via a low-resistance conductor

3. # To insulate electrical systems from faults

4. # To increase the voltage potential of the system

Question Number : 57 Question Id : 6306801392708 Question Type : MCQ Option Shuffling : Yes
T (carthing) T T BT &1 &2

Options :

1. % faggg ara®! &I WY YfH (earth) I ST

2. SATAD I YT UIeH Bl g Uikl areish gR1 YfH O Sg1
3. % fagga yunferl ! Il (faults) I ST

4. % YUTCH &1 el &HdT H Jig BT




Question Number : 58 Question Id : 6306801392714 Question Type : MCQ Option Shuffling : Yes
What is the minimum required length for rod or pipe electrodes?

Options :

1. #® 1.5 metre

2. % 2.0 metre

3. ¥ 2.5 metre

4. % 3.0 metre

Question Number : 58 Question Id : 6306801392714 Question Type : MCQ Option Shuffling : Yes
1S T UTSY 3aaers & foIE -gAdH SMTa=ad daTs fohd gla 87
Options :

1. % 1.5°eR
2. % 20 AR
3. ¢ 2.5 TR
4, % 300X

Question Number : 59 Question Id : 6306801395658 Question Type : MCQ Option Shuffling : Yes
What is the primary difference between earthing and grounding in electrical systems?

Options :

1. # Earthing is used to protect electrical equipment, while grounding is for human safety.

2. ® There is no difference; earthing and grounding mean the same thing.

3. ® Earthing is for high-voltage systems, while grounding is for low-voltage systems.

4. ¥ Earthing is for electric shock, while grounding focuses on system stability.

Question Number : 59 Question Id : 6306801395658 Question Type : MCQ Option Shuffling : Yes
ﬁwmﬁm 3R 1/'ITEiﬁ';']T(earthing and grounding)%ﬁﬁﬂﬂ'@w GR:ITEﬁT‘IT%V

Options :

1. % 3ffTT T IUGIT faggd IUHRUN o1 JRen & fore fava o1 &, Safes IefE ama [Ren & faw |
2. % G A BT SR el &; T iR IR o1 erf U A 1

3. % it I dieedr yunferdl & fore 7, Siafds UrdfeT wH-diecdr wonferdl & o g

4. ¢ 3T g vard & forw 8, el IsfE gumel & =ifid W $Hfa g 21

Question Number : 60 Question Id : 6306801392344 Question Type : MCQ Option Shuffling : Yes
What is an earth resistance tester used for?

Options :

1. # Measuring the voltage in electrical circuits

2. ¥ Measuring the resistance between any two points of the earth

3. % Testing the insulation of electrical wires

4. # Measuring current flow in a circuit



Question Number : 60 Question Id : 6306801392344 Question Type : MCQ Option Shuffling : Yes
Y TfoRTY TRIfEE &1 SUdNT -t fadt SiTeT 82

Options :

1. * faggd uRul & atecar Ao o fog

2.« iy 3 fopedl &) Rigall & ot ekl w1 & R

3. % f3ggd AR & fAGRIYT BT TRI&0 R o forg

4. % URYY § yaTied YRT I AU & forg

Question Number : 61 Question Id : 6306801392903 Question Type : MCQ Option Shuffling : Yes
What should be checked if a DC motor fails to start due to low or no terminal voltage?

Options :

1. # The motor's insulation resistance

2. ® The motor's speed settings

3. # The alignment of the motor shaft

4. ¥ The incoming voltage against the nameplate rating

Question Number : 61 Question Id : 6306801392903 Question Type : MCQ Option Shuffling : Yes

%ﬁfﬂgﬁaz&ha@m%ammﬂq@ﬁ%wmﬁﬁw%ﬁm%ﬂaﬁm

Options :

1. % HIR BT AL UieRIY

2. % HIeR &1 Wis Afca

3. % HICX QMUC BT IOl

4. ¢ SHEIC T (nameplate rating) & [d¥ 3T dTcil dieed

Question Number : 62 Question Id : 6306801393078 Question Type : MCQ Option Shuffling : Yes
In a DC shunt motor, how is the field winding connected?

Options :

1. * In series with the armature winding

2. ¥ In parallel with the armature winding

3. # Externally through an external excitation circuit

4. ¥ Independently without connection to the armature

Question Number : 62 Question Id : 6306801393078 Question Type : MCQ Option Shuffling : Yes
DC T AR H hics arsieT &I ol iford fbar S g2
Options :

1. % 3THTR AEfST & Iy 9o v H A
2. 3THR RIS & Y JHIdR HH H



3. % qII ©U I 978 Ioo uRuYy o a1y o
4. % MHR T Ao & e W TU I

Question Number : 63 Question Id : 6306801395375 Question Type : MCQ Option Shuffling : Yes

Which type of DC motor is most commonly used in applications requiring both high starting torque and
good speed regulation?

Options :

1. ¥ DC Shunt Motor

2. % DC Series Motor

3. ¥ DC Compound Motor
4. # Universal Motor

Question Number : 63 Question Id : 6306801395375 Question Type : MCQ Option Shuffling : Yes

I Uac Samgul SR IH A1d FTEA aFl &1 STaRadhd] ardl Sy & fhd THR &1 DC HieR &
T 31fere I9IRT faa ST 87

Options :

1. % DC X Al

2. % DC 90 HIex

3. ¢ DC HUSS AR
4. % FEHS Hiex

Question Number : 64 Question Id : 6306801395556 Question Type : MCQ Option Shuffling : Yes
In DC motors, the speedis _ to the armature voltage and to the field current.

Options :

1. ¥ proportional, inversely proportional

2. % proportional and independent

3. # independent and proportional

4. # inversely proportional, proportional

Question Number : 64 Question Id : 6306801395556 Question Type : MCQ Option Shuffling : Yes

DC]ﬂaﬁ,W(speed),mma?@ 3R &7 YRT B/ HcIE

Options :

1. ¢ G, Geh |l
2. % GHEUI, ¥d

3. % Wad, MU

4. % b AU, U

Question Number : 65 Question Id : 6306801396140 Question Type : MCQ Option Shuffling : Yes



What is the significance of front pitch in winding design?

Options :

1. * It helps determine the number of poles in the machine.

2. ¥ It influences the coil's distribution and helps to reduce harmonics.
3. # It determines the speed of the machine.

4. % Tt is used to calculate the armature resistance.

Question Number : 65 Question Id : 6306801396140 Question Type : MCQ Option Shuffling : Yes

ST fSTEa & 317 3IARTA (front pitch) PT T HEE &2
Options :

1. % Ug TRiA o ¢fai &t de Fufikd s & Sgrrar sar |

2. ¥ T8 H&all & [daRUl Bl THTFAd HRdT § 3R THID (harmonic) BT HH B H TeIIdl BT G|
3. % gg g & 9ra HuiRa sRar gl

4. % 3BT IYINT THIR UfRIY P 70T B & fore o S 3|

Question Number : 66 Question Id : 6306801393017 Question Type : MCQ Option Shuffling : Yes
What is the working principle of a DC generator?

Options :

1. ¢ Faraday's Law of Electromagnetic Induction

2. ¥ Ampere’s Law

3. # Lenz's Law

4. % Ohm's Law

Question Number : 66 Question Id : 6306801393017 Question Type : MCQ Option Shuffling : Yes
DC S+ forg fom IR o1 =l g2

Options :

1. ¢ BR1S F1 faggd g g OR0T &1 fa|
2. % AR &1 Ay

3. % o=l o fH

4. % 30 &1 fAgg

Question Number : 67 Question Id : 6306801393339 Question Type : MCQ Option Shuffling : Yes
What does the term 'coil pitch' refer to in a DC machine?

Options :

1. ¥ The number of coils wound around a single pole

2. ¥ The distance between the centres of two adjacent coils

3. ® The length of the armature coil



4. ¥ The number of turns in a coil

Question Number : 67 Question Id : 6306801393339 Question Type : MCQ Option Shuffling : Yes
DC A2 T Reg ‘GSell SIaRTA (coil pitch)' T T 3 82

Options :

1. % TP Uehd UId o aR| 3R qUCT T8 Hoierdl Bi ]

2. &l A HSferl & hal o ord B gil

3. % TR Hedl DI daTs

4. % Sl § BRI Bl G=AT

Question Number : 68 Question Id : 6306801393337 Question Type : MCQ Option Shuffling : Yes
If the number of poles in a DC machine is doubled, what happens to the pole pitch?

Options :

1. % The pole pitch is halved.

2. % The pole pitch is doubled.

3. # The pole pitch remains unchanged.

4. % The pole pitch becomes four times smaller.

Question Number : 68 Question Id : 6306801393337 Question Type : MCQ Option Shuffling : Yes
¢ Teb DC HRIH H ¢dl Bt TWAT G DR Gl ST, Tl Yd SRT (pole pitch) TR FAT THT T2
Options :

1. ¢ ¢d 3Tl T g1 S|

2. % §q 3{dRTdl GRIAT 81 ST |

3. % ¢q Sfavra faRkafdd |

4. % ¢[d SR IR AT Blel g SE|

Question Number : 69 Question Id : 6306801395550 Question Type : MCQ Option Shuffling : Yes

In the armature of a DC machine, there are 72 conductors, 36 coils, 36 slots and 4 poles. Determine the pole
pitch.

Options :

1. ¥ 18 in terms of conductors
2. % 144 in terms of slots

3. #® 12 in terms of slots

4. % 9 in terms of conductors

Question Number : 69 Question Id : 6306801395550 Question Type : MCQ Option Shuffling : Yes
TP DC A=A & TR T 72 ITAP, 36 HSalt, 36 W (slots) 3R 4 4d | 4d Ut 1 PHifoTQ |

Options :

1. ¢ ITAd] & UGl H 18 (18 in terms of conductors)




2. % WA B Ul H 144 (144 in terms of slots)
3. % WAl B UG H 12 (12 in terms of slots)
4. % IAP] o UGl T 9 (9 in terms of conductors)

Question Number : 70 Question Id : 6306801393209 Question Type : MCQ Option Shuffling : Yes

For a star-connected balanced load with a neutral point accessible, how is the total power calculated using
the single wattmeter method?

Options :

1. ¥ Multiply the wattmeter reading by 2
2. ¥ Multiply the wattmeter reading by 3
3. # Divide the wattmeter reading by 3

4. % Subtract the reactive power from the wattmeter reading

Question Number : 70 Question Id : 6306801393209 Question Type : MCQ Option Shuffling : Yes

Udh gl ﬁ—g (neutral point) d TR Tl WR-Hide S *l-i(jﬁk‘l HIX (star-connected balanced load) &
fore, Terd areHic faft o1 IUNT Heb ot X 1 TTUMT B ! It 82

Options :

1. % greHiex SfET DI 2 T 0T HRb

2. ¢ qredie’ AT D1 3 I 0N b

3. % Qe AT DI 3 F UG IRb

4. % greHeR AfST H I Ufadrd [l (reactive power)wm

Question Number : 71 Question Id : 6306801395649 Question Type : MCQ Option Shuffling : Yes
Which of the following instruments is used to measure electrical power directly?

Options :

1. ¥ Wattmeter

2. % Ohmmeter

3. # Voltmeter

4. ¥ Ammeter

Question Number : 71 Question Id : 6306801395649 Question Type : MCQ Option Shuffling : Yes

faega wfe &\ yrera: AaA & forg Fafefad # | frg Suevur o1 SughT e S &2

Options :

1. ¥ gIcHIcR
2. % IHHIER
3. % GlecHley
4. % THICR



Question Number : 72 Question Id : 6306801396036 Question Type : MCQ Option Shuffling : Yes
Consider the following statements related to energy meter. Which of the given statements are correct?

1) The potential coil is connected across the load.

2) The current coil is wound with many turns of fine wire.

3) Excessive voltage across the potential coil can cause creeping.

4) The permeant brake magnet produces an opposing torque that acts against the turning torque of the
aluminum disc.

Options :

1. % 1,2,3and 4
2. % 1,2 and 3 only
3. % 2 and 3 only
4. % 1,3 and 4 only

Question Number : 72 Question Id : 6306801396036 Question Type : MCQ Option Shuffling : Yes

ot ATl A &g FafaRad sy R R S| R T Sy 7 3 $19-89 5y 981 82

1) fava Freet, o o Taford & ot 8 |

2) URT HScit Bl HelH IR & Hs Bl J Peferd fhal S g

3) fava Feelt & srafiies dieedr & HRU faqUur Ia 8 Iwar g |

4)@?a$ﬁ1ﬂ3@ermeant brake magnet)wﬁﬁ%ﬁwqﬁmm?{,ﬁﬁﬁq&rﬁuﬂ%“@%aﬂq
SoTYUl & [9%g B PRAT 5 |

Options :

1. % 1,2,3 3R 4

2. % Had 1,2 3R 3

3. % Had 2 3R 3

4.+ Pad 1,3 3R 4

Question Number : 73 Question Id : 6306801395640 Question Type : MCQ Option Shuffling : Yes
Why is the calibration of measuring instruments important?

Options :

1. #® To increase the speed of measurements

2. # To make the instruments more durable

3. # To prevent human errors in measurements

4. ¥ To ensure that measurements are consistent with the true value

Question Number : 73 Question Id : 6306801395640 Question Type : MCQ Option Shuffling : Yes
AU USRI BT =M 0 Ag@qUl aIdl &2

Options :

1. % HIUF 1 Td ¢ & forg

2. % JUBUN B 31f¥eh fehTS, M & forg



3. % A9 4 A4 el B b & g
4. « T8 GATYd S & o 6 A= arafas A9 & sf&u g

Question Number : 74 Question Id : 6306801392954 Question Type : MCQ Option Shuffling : Yes
Which of the following statements accurately describes a fixed resistor?

Options :

1. # A fixed resistor can vary its resistance based on the voltage applied.

2. ¥ A fixed resistor has a constant resistance value that does not change.

3. # A fixed resistor is primarily used to store electrical energy.

4. ® A fixed resistor is a type of variable resistor that can be adjusted.

Question Number : 74 Question Id : 6306801392954 Question Type : MCQ Option Shuffling : Yes

fafefad & ¥ S9-91 HYF, Th uRad! UfoRIUD (fixed resistor) BT JEIPb TUM BT 82
Options :

1. % e uRadf ufaRIYe Tged dieedl & YR WR 30 UfR1Y & uikafdd & Joar g

2. ¢ T Ul UfaRIue® &1 Tdh fRR UfeRk1Y 719 81T 8, S Igadl el 6

3. % U SRl UfeRIee 1 IUTNT T- U ¥ faggd Sl & GUed H3 & forg forar Sar g |
4. % U UGS UfeRIU® TP UHR &1 IRadl UfaRie® g, o Tarnford fosar o 9wan g |

Question Number : 75 Question Id : 6306801393341 Question Type : MCQ Option Shuffling : Yes
In a pure capacitance circuit, the current leads the applied EMF by:

Options :

1. % 45°

2.9 90°

3. % 180°

4. % 270°

Question Number : 75 Question Id : 6306801393341 Question Type : MCQ Option Shuffling : Yes
IS oTRar aRuy § RT, 3Uged EMF 9 AT gt 8

Options :

1. % 45°

2. % 90°

3. % 180°

4. % 270°

Question Number : 76 Question Id : 6306801394899 Question Type : MCQ Option Shuffling : Yes
What happens to the capacitance of a capacitor if the value of dielectric constant of a material deceases?
Options :

1. #¥ The capacitance increases.



2. % The capacitance remains unchanged.
3. ® The capacitor stops functioning.

4. ¥ The capacitance decreases.

Question Number : 76 Question Id : 6306801394899 Question Type : MCQ Option Shuffling : Yes
gfe faret uard o IRIdggdies &1 A1 gedl §, df ST &1 e1ial R 1 guTd Usdl g2

Options :

1. % yTRar 9¢ S gl

2. % yiiear srufkafda et Bl

3. % TYRT SR BT dg PR ST g
4. « TRAT HH 81 Sl B |

Question Number : 77 Question Id : 6306801395426 Question Type : MCQ Option Shuffling : Yes
Which of the following is a non-linear resistor?

Options :

1. #® Carbon resistor

2. ¥ Thermistor

3. # Wire-wound resistor

4. ¥ Metal oxide resistor

Question Number : 77 Question Id : 6306801395426 Question Type : MCQ Option Shuffling : Yes
e § 3 SH-91, Th 3RRE® UfeRiy® 82

Options :

1. % I UfaRIYD (Carbon resistor)

2. ¢ YFHER (Thermistor)

3. % UR peferd UfaRIUd (Wire-wound resistor)
4. % YIq 1SS TfRIY® (Metal oxide resistor)

Question Number : 78 Question Id : 6306801396109 Question Type : MCQ Option Shuffling : Yes
Which of the following materials is most suitable for artificial permanent magnets?

Options :

1. ¥ Nickel

2. % Copper

3. # Zinc

4. ® Pure gold

Question Number : 78 Question Id : 6306801396109 Question Type : MCQ Option Shuffling : Yes

HIT W g & foe Fafiad # § SH- areh 9e9 Suged gl 82

Options :



1. ¢ fAod
2. % qIdT
3. % SRl
4. % TG AT

Question Number : 79 Question Id : 6306801393270 Question Type : MCQ Option Shuffling : Yes
What is inductive reactance?

Options :

1. ® The resistance to direct current flow

2. # The measure of energy stored in a capacitor

3. ® The total impedance in a resistive circuit

4. ¥ The opposition to AC current flow caused by inductance

Question Number : 79 Question Id : 6306801393270 Question Type : MCQ Option Shuffling : Yes
RO UfcaTd o g2

Options :

1. % U 4RI JaTg BT UfoRiY

2. % JYTRA H UG Sl Bl HIY

3. % YieRIycD URuY | Ho Ufdere

4.« URA & BRI AC YRT YdTg ! f[AuRicd

Question Number : 80 Question Id : 6306801394684 Question Type : MCQ Option Shuffling : Yes
How does the inductive reactance affect the phase relationship between voltage and current in an inductor?
Options :

1. ® It causes the current to lead the voltage by 90 degrees.

2. ¥ It causes the current to lag the voltage by 90 degrees.

3. # It has no effect on the phase relationship.

4. # It causes current to be in the same phase as that of voltage.

Question Number : 80 Question Id : 6306801394684 Question Type : MCQ Option Shuffling : Yes

fomat %ﬁ_?[ T IRfOre ufdrerd, dieedr 3R YRT & T Har e (phase relationship) DI HY guIad
hdI 8?2
Options :

1. ¥ 3P HRUT YRT, dieedl I 90 FSI SR o1 iR gt 8

2.+ 3P HRUI, YRT dieedl I 90 FSIf g ot SR A B

3. % ITP] DAl YU (phase relationship)qqﬁ_ﬁcqlﬂa:lﬁmal
4. % 3P HRUN YR, Aeed St GHM HAT (same phase) T Bldil o




Question Number : 81 Question Id : 6306801396099 Question Type : MCQ Option Shuffling : Yes

Determine the inductance of an inductor in Henry when fed with a 60 Hz AC supply, considering an
inductive reactance of 3.77 Ohms.

Options :

1. ¥ 0.01 Henry
2. % 0.001 Henry
3. # 10 Henry

4. % 1 Henry

Question Number : 81 Question Id : 6306801396099 Question Type : MCQ Option Shuffling : Yes

forft Of%T @Y 60 Hz AC Pt SYf < ST &, SUHT UROI Ufard 3.77 3 A §U, 39&T IRG@
@ ) fRuffya sifoe|

Options :

1.+ 0.01 g%t
2. % 0.001 g1
3. % 10 gl
4. % 1 g

Question Number : 82 Question Id : 6306801393348 Question Type : MCQ Option Shuffling : Yes
Which type of relay uses a bimetallic element to function?

Options :

1. #® Voltage sensing relay

2. # Current sensing relay

3. ¥ Thermal relay

4. ® Under-current relay

Question Number : 82 Question Id : 6306801393348 Question Type : MCQ Option Shuffling : Yes

T ypR & R A rf 3 & foe fgunfas a1 Swm gl g2

Options :

1. % gleear R R (Voltage sensing relay)
2. % yRT AR Ra (sensing relay)

3.« diag Ra (Thermal relay)

4, % JAYRI e (Under-current relay)

Question Number : 83 Question Id : 6306801394692 Question Type : MCQ Option Shuffling : Yes
What is the total inductance of three inductors L1 =3 H, L2 = 6 H, and L3 =9 H connected in parallel?
Options :

l.¥ 1.63H



2. % 18H
3.% 6H
4. % 0.69H

Question Number : 83 Question Id : 6306801394692 Question Type : MCQ Option Shuffling : Yes
TR %8 H 9[S dH OR&T L1 =3 H, L2 = 6 H, 3R L3 = 9 H &1 $d IR J1d BHifoTg |

Options :

1. ¥ 1.63H

2. % I8H

3.% 6H

4. % 0.69H

Question Number : 84 Question Id : 6306801396093 Question Type : MCQ Option Shuffling : Yes

What is the equivalent resistance between terminal 'X' and 'Y" of the circuit shown below?
10 Ohm

T VWV
A

ie

Options :

1. ¥ 50hm
2. % 10 Ohm
3. % 40 Ohm
4. % 2.5 Ohm

Question Number : 84 Question Id : 6306801396093 Question Type : MCQ Option Shuffling : Yes

2 T2 T uRuy & effiTd X SR 'y & o9 o ufeRiy fara g2

10 Ohm
T VWV
i
Options :

1. ® 50hm



2. ¥ 10 Ohm
3. # 40 Ohm
4, % 2.5 Ohm

Question Number : 85 Question Id : 6306801393376 Question Type : MCQ Option Shuffling : Yes
Which winding insulation material is specifically used for Class A insulation?

Options :

1. # Triplex paper

2. ¥ Leatheroid paper

3. % Millinex paper

4. ® Micanite paper

Question Number : 85 Question Id : 6306801393376 Question Type : MCQ Option Shuffling : Yes

FATT A A (Class A insulation) & fore forg W_"f Qe (winding insulation) I &1 ARy =0 9
IO 3T ST 87

Options :

1. % eI UUR (Triplex paper)

2. ¢ ARITE TR (Leatheroid paper)
3. % fOfea YR (Millinex paper)

4, % HIEHMIZE UM (Micanite paper)

Question Number : 86 Question Id : 6306801393610 Question Type : MCQ Option Shuffling : Yes
What is the primary characteristic of amorphous cores used in transformers?

Options :

1. # They have a regular crystalline structure.

2. # They are made from silicon steel.

3. ¥ They lack a regular crystalline structure.

4. ® They are thicker than traditional cores.

Question Number : 86 Question Id : 6306801393610 Question Type : MCQ Option Shuffling : Yes

Efmth—\l/ﬁ o Ugdd ffopeedg HIsl (amorphous cores) P UTdfres fo=ivar o1 giclt %‘?

Options :

1. % o] WReT At fhee i gl 8|

2. % RMPA T g ]

3. ¢ 30 fFafira fpsediia O &1 SHE BT B
4. % Y URIRSD HIs! &I Ja1 | AU A BId |

Question Number : 87 Question Id : 6306801393653 Question Type : MCQ Option Shuffling : Yes
Which wiring system is used in industrial workshops?



Options :

1. # Cleat wiring

2. % Wooden casing and capping wiring
3. ¥ Concealed conduit wiring

4. % Lead sheathed wiring

Question Number : 87 Question Id : 6306801393653 Question Type : MCQ Option Shuffling : Yes

3ienfite sriemareht & forg arafia yomett &1 U fhar Sirar g2

Options :

1. % it IR (Cleat wiring)

2. % PIY q?ﬂ—q.'ﬂ qrafT (Wooden casing and capping wiring)
3. ¢ IR} Hgyge drRT (Concealed conduit wiring)

4. % Hi1-3wsTid arRT (Lead sheathed wiring)

Question Number : 88 Question Id : 6306801395502 Question Type : MCQ Option Shuffling : Yes
In an AC motor, the collar is typically used around which part of the motor?

Options :

1. # Armature winding

2. % Stator core

3. ¢ Field pole

4. % Rotor shaft

Question Number : 88 Question Id : 6306801395502 Question Type : MCQ Option Shuffling : Yes
AC HIeY H, BIR (collar) BT SUUNT JHTI: HeX & fbg HIT & IRY 3R fovar Siran g2

Options :

1. % 3R arefeT (Armature winding)
2. % LR PIS (Stator core)

3. ¢ HIS UId (Field pole)

4. % Y UM (Rotor shaft)

Question Number : 89 Question Id : 6306801395673 Question Type : MCQ Option Shuffling : Yes

Which of the following is commonly used for industrial wiring in environments where moisture or dust is a
concern?

Options :

1. ¥ Concealed wiring

2. % Surface conduit wiring
3. # Underground wiring

4. #% Qverhead wiring



Question Number : 89 Question Id : 6306801395673 Question Type : MCQ Option Shuffling : Yes

A a7 et are gaiaRor A Sienfiie arafie % fre ure: Fefifad & @ gt SugnT fear srar g2

Options :

1. ¢ YIal 9T (Concealed wiring)

2. % W’q W i (Surface conduit wiring)
3. % E@TIH R (Underground wiring)

4. % TRRIUR IR (Overhead wiring)

Question Number : 90 Question Id : 6306801393475 Question Type : MCQ Option Shuffling : Yes
In a three-phase AC motor with concentric winding, which of the following statements is correct?
Options :

1. #® Each phase consists of a different number of coils, leading to unequal concentric poles.

2. # The coils in a group have the same pitch in a concentric winding.

3. ¥ Stepped formers are used to prepare coils for concentric winding.

4. % Concentric winding consists of only a single coil per group.

Question Number : 90 Question Id : 6306801393475 Question Type : MCQ Option Shuffling : Yes

Hbgl W:f (concentric winding) T dH-ThoT AC HICY & ﬁfq, IEEINITERRER: PI-IT HYT w %‘?

Options :

1. % UAF Bol H Fafordl o1 Tt fd Bl §, foTId HRUT SRIAM Tdhal 4d (poles) I & |

2. % Ydbgl pea- o, Wg # f¥yd Haferdl &1 g gum gar ]

3. ¢ Tl S & foTU HEferl a7 8g WS BIHY (Stepped formers) T SUANT faral STaT B |
4. % Ydhgl Hea- H Ufd T Had Thd Hal gidl o

Question Number : 91 Question Id : 6306801395486 Question Type : MCQ Option Shuffling : Yes

What happens when the vector sum of the current in all conductors differs from zero in a current-operated
ELCB?

Options :

1. # The circuit will continue to function normally.

2. ¥ The ELCB will break the circuit automatically.
3. ® The current will increase to the maximum rating.

4. ¥ The ELCB will signal an alarm without breaking the circuit.

Question Number : 91 Question Id : 6306801395486 Question Type : MCQ Option Shuffling : Yes

OId U YRI1-Yaferd ELCB H 9t areen! o 4RT &1 i1 anT g & st gran g, df a1 grar 82

Options :

1. % gRUY I =Y T B Bl |
2.+ ELCB, URTY &l Wd: g HfSid & |
3. % YRT 3HfYHIH I IP I¢ S |



4. # ELCB, URUY &I HiSrd foru fomm srard dasa S|

Question Number : 92 Question Id : 6306801395669 Question Type : MCQ Option Shuffling : Yes
Which winding technique is used in high-power AC motors to minimise the effect of armature reaction?
Options :

1. # Lap winding

2. % Wave winding

3. ¥ Compensating winding

4. # Skewed winding

Question Number : 92 Question Id : 6306801395669 Question Type : MCQ Option Shuffling : Yes

-l AC Hiex H 3THR UfAfehar & UHTd B gAdH HRA & [ad [ e deid (winding
technique) DI IUANT Tt STt %?

Options :

. %y $SA (Lap winding)

2. % T HSAT (Wave winding)

3. ¢ UIdPTRA $Sa (Compensating winding)
4. % PHaAs HSA (Skewed winding)

Question Number : 93 Question Id : 6306801393374 Question Type : MCQ Option Shuffling : Yes
What is the primary use of a megohmmeter?

Options :

1. ¥ Checking insulation resistance and continuity

2. #% Measuring power factor

3. ® Testing battery voltage
4, ¥ Measuring frequency

Question Number : 93 Question Id : 6306801393374 Question Type : MCQ Option Shuffling : Yes

TS AEHT (megohmmeter) Tl UTYfies IUTNT 31 ]2

Options :

1. ¢ faggd-eh ufeRly SR Fide & ird HRAT
2. % T[fa 0T P AT
3. % Sl dieedl BT URTE0T BT

4. % 3TqfI ATGAT

Question Number : 94 Question Id : 6306801394773 Question Type : MCQ Option Shuffling : Yes
What role does the arc chute play in an MCB?
Options :



1. # It regulates voltage during operation.
2. ¥ It extinguishes the arc formed during tripping.
3. ® It maintains the thermal equilibrium of the circuit.

4. % It prevents overheating of the breaker.

Question Number : 94 Question Id : 6306801394773 Question Type : MCQ Option Shuffling : Yes

MCB ¥ 3T UaforeT (arc chute) A “;[&IW Eﬂ_cﬁ %‘?

Options :

1. % g U=TaH & SR dleed! &l Had HRdl 71

2. ¢ g8 fefth & SR I 811 a1 341 P g3 <t ]
3. % Ug URUY &1 aTdig ArTeawyT &) ST G g |

4. % 7g fagiore &) ifada @ s=rcht B

Question Number : 95 Question Id : 6306801395321 Question Type : MCQ Option Shuffling : Yes
When the wire length increases in industrial wiring, what happens to the wire size?

Options :

1. #® The wire size decreases.

2. ¥ The wire size increases.

3. # The wire size remains the same

4. ® The wire size depends only on the wire colour.

Question Number : 95 Question Id : 6306801395321 Question Type : MCQ Option Shuffling : Yes
oI ST IR & dR &t ddls H gfa & ol 8, A1 dR 1S9 (wire size) TR T THIE TS 82

Options :

1. % gR I3 HH g a1 g

2. ¢ AR I1El H gfG 81 o 3|

3. % gR UIgd del |l g

4. % R U3 had dR & J R AR axar g

Question Number : 96 Question Id : 6306801393046 Question Type : MCQ Option Shuffling : Yes
Which feature distinguishes a single-core sheath channel cable from a standard solid cable?

Options :

1. ® Use of XLPE insulation instead of paper insulation

2. ¥ Presence of oil ducts in the metallic sheath

3. # Stranded conductor instead of a solid conductor

4. % Absence of a metallic sheath for insulation

Question Number : 96 Question Id : 6306801393046 Question Type : MCQ Option Shuffling : Yes



frafafed # @ e faivar, RiTa-®R =Mty oA Had (single-core sheath channel cable) IR IR G
Jifers Had (standard solid cable) | UYh Pt %?

Options :

1. % JUR ALY (paper insulation) P SHTE XLPE A BT SYTNT
2. ¢ YT TART (sheath) A dd ATBTST (ducts) DT SURU
3. % el 1D &I S8 ASGR ATAD (stranded conductor)
4. % (Y b foIU YT SMTARUT BT 31HTG

Question Number : 97 Question Id : 6306801395368 Question Type : MCQ Option Shuffling : Yes
What is the main function of insulation in underground cable?

Options :

1. ¥ To reduce electromagnetic interference

2. % To protect gain signal

3. ¥ To prevent electrical leakage and short circuits

4. % To enhance signal strength

Question Number : 97 Question Id : 6306801395368 Question Type : MCQ Option Shuffling : Yes

IR dhere H SRR T e BT T Biell 87

Options :

1. % faqgd TP ATAHR Bl HH HAT
2. % 9 f¥U (gain signal) BT TRETT HRAT
3. ¢ faggad dfioret SR ic Ffdhe & Al
4. % Ryrq 9 o) Sg

Question Number : 98 Question Id : 6306801395629 Question Type : MCQ Option Shuffling : Yes
When selecting cable insulation for underground cables, what is an essential consideration?

Options :

1. ® The aesthetic appeal of the cable

2. ¥ The ability to resist electrical stress and external environmental factors

3. ® The cost of insulation material only

4. % The weight of the cable

Question Number : 98 Question Id : 6306801395629 Question Type : MCQ Option Shuffling : Yes

gg%ﬁ%ﬁﬂ faqgd A4 Had BT I Hd 999, 99 T J ford fdg W faaR =1 sraae
?

Options :

1. % Had P Jleaidd AUTd W
2. ¢ faggd ufaed SR a1 TalaRoig BRI &7 UfoRIY B B &HdT IR
3. % Pad fagygd A= IRl &1 AR R



4. % HIA D HR |

Question Number : 99 Question Id : 6306801395522 Question Type : MCQ Option Shuffling : Yes
What creates the rotating magnetic field in the stator of a 3-phase induction motor?

Options :

1. # DC current supplied to the stator windings

2. ® The rotating rotor

3. ¥ Three-phase alternating currents in the stator windings

4. ¥ A permanent magnet in the stator

Question Number : 99 Question Id : 6306801395522 Question Type : MCQ Option Shuffling : Yes

3Tl $EFH HIC & WX | yuff Jasbid & fvarss g1 A gar g2

Options :

1. % R ARFET PI Y[ BT T8 DC URT
2. % ORI

3. ¢ WeR AiRfeT H dH-Uh TdTad! Ut
4. % WX U R Jadb

Question Number : 100 Question Id : 6306801393053 Question Type : MCQ Option Shuffling : Yes
What is the remedy for overheating from faulty stator winding in a three-phase induction motor?
Options :

1. # Replace the motor

2. ¥ Remove the fault or rewind the stator

3. # Increase the voltage

4. ® Install Cooling Fans

Question Number : 100 Question Id : 6306801393053 Question Type : MCQ Option Shuffling : Yes

3-U5 ol TRUT Aex H groguf Wex arfE ¥ Iad i &1 U &1 82

Options :

l. % QXD ded ¢
2. ¥ QAU B QR DX T LR P RARS B
3. % gleedl P IgId

4. % I B ST BN




